
Example from the 6th Lecture

Decide which project is preferable for investors. The initial costs of investment for the project A are $ 90,000.00, and in the fourth year it is required to pay the repairing costs of $ 30,000.00. Project implementation is planned for five years with the generation of the following cash flows after one year: $ 10,000.00, $ 17,000.00, $ 34,000.00, $ 41,000.00, $ 38,000.00. All cash flows are definite. Furthermore, it is known, that the price of the foreign capital is 6%, and shareholders require interest at minimal rate of 7,5%. The total debt is up to 70% in the capital structure. The project B has the following structure of investments: $ 10,000.00 as initial costs and $2,000.00 as annual additional costs. Estimated life of the project is 3 years. Project might generate different payoff: $ 2,000.00, $ 3,000.00, $ 7,000.00 with 30% probability, $ 4,000.00, $ 6,000.00, $ 9,000.00 with 50% probability, and $ 5,000.00, $7,000.00, $ 10,000.00 with 20% probability. The inclusion of income tax (15%) into the calcu
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Decide which project is preferable for investors. The initial costs of investment for the project A are $ 90,000.00, and in the fourth year it is required to pay the repairing costs of $ 30,000.00. Project implementation is planned for five years with the generation of the following cash flows after one year: $ 10,000.00, $ 17,000.00, $ 34,000.00, $ 41,000.00, $ 38,000.00. All cash flows are definite. Furthermore, it is known, that the price of the foreign capital is 6%, and shareholders require interest at minimal rate of 7,5%. The total debt is up to 70% in the capital structure. The project B has the following structure of investments: $ 10,000.00 as initial costs and $2,000.00 as annual additional costs. Estimated life of the project is 3 years. Project might generate different payoff: $ 2,000.00, $ 3,000.00, $ 7,000.00 with 30% probability, $ 4,000.00, $ 6,000.00, $ 9,000.00 with 50% probability, and $ 5,000.00, $7,000.00, $ 10,000.00 with 20% probability. The inclusion of income tax (15%) into the calcu
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Decide which project is preferable for investors. The initial costs of investment for the project A are $ 90,000.00, and in the fourth year it is required to pay the repairing costs of $ 30,000.00. Project implementation is planned for five years with the generation of the following cash flows after one year: $ 10,000.00, $ 17,000.00, $ 34,000.00, $ 41,000.00, $ 38,000.00. All cash flows are definite. Furthermore, it is known, that the price of the foreign capital is 6%, and shareholders require interest at minimal rate of 7,5%. The total debt is up to 70% in the capital structure. The project B has the following structure of investments: $ 10,000.00 as initial costs and $2,000.00 as annual additional costs. Estimated life of the project is 3 years. Project might generate different payoff: $ 2,000.00, $ 3,000.00, $ 7,000.00 with 30% probability, $ 4,000.00, $ 6,000.00, $ 9,000.00 with 50% probability, and $ 5,000.00, $7,000.00, $ 10,000.00 with 20% probability. The inclusion of income tax (15%) into the calcu
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Decide which project is preferable for investors. The initial costs of investment for the project A are $ 90,000.00, and in the fourth year it is required to pay the repairing costs of $ 30,000.00. Project implementation is planned for five years with the generation of the following cash flows after one year: $ 10,000.00, $ 17,000.00, $ 34,000.00, $ 41,000.00, $ 38,000.00. All cash flows are definite. Furthermore, it is known, that the price of the foreign capital is 6%, and shareholders require interest at minimal rate of 7,5%. The total debt is up to 70% in the capital structure. The project B has the following structure of investments: $ 10,000.00 as initial costs and $2,000.00 as annual additional costs. Estimated life of the project is 3 years. Project might generate different payoff: $ 2,000.00, $ 3,000.00, $ 7,000.00 with 30% probability, $ 4,000.00, $ 6,000.00, $ 9,000.00 with 50% probability, and $ 5,000.00, $7,000.00, $ 10,000.00 with 20% probability. The inclusion of income tax (15%) into the calcu
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